Maths 5 Resource

Section A: Section C:
1.364g-175g= 11. 205g-78g =
2.382m —294m = 12. 814ml—-58ml =

3. 518kg —229%kg = 13. 902mm — 65mm =
4.532g - 145g = 14. 540ml - 64ml =
5.724m —248m = 15. 405mm —38mm =
Section B:

6.532ml - 148ml =
7.923mm —265mm =
8.841cm —389cm =
9.784m —596m =

10. 352kg — 179kg =

Mastery

Solve these using column subtraction. Once you have an answer, check it using the inverse (column
addition).

1.522g—-413g =
2.944m —558m =
3.420kg —147kg =
4.826ml—-389ml =

5.204mm - 176mm =



